HERLANZ / Components
No. 2 ¥ / Part name = / Pcs & / Material - FREWE / Color-Finish
1 kv FHs8— / Top cover 1 ASA#tEE UL94HB / UV-resistant ASA UL94HB HRIARF'L— / White gray
IR TEABSHIE (UL94V-0 E L H) / Flame-resistant ABS UL94V-0 F3—)L% L— / Charcoal gray
2 | /RF4— / Bottom base 1 ASA#EE UL94HB / UV-resistant ASA UL94HB RITA RS L— / White gray
PREABSHIE (UL94V-0 E %) / Flame-resistant ABS UL94V-0 F3a—)L5 L— / Charcoal gray
3 | FS5A2KAH/N— / Blind lids 2 ASAHHE UL94HB / UV-resistant ASA UL94HB RITA RS L— / White gray
IREABSHIE (UL94V-0 E RS / Flame-resistant ABS UL94V-0 F3a—)L5 L— / Charcoal gray
4 | HRY Yk / Gasket 1 2 1)arI L / Silicone 7594 / Black
5 |BEFER (LUK M3 x 8) 8 ATFULR AL
2, Screw (Binding head M3 - 8) Stainless steel Unfinished
?
3

4
2
5
BT =hJ)LT—74 / Technical Datall
REZ R / Protection class : IP67
{#EFR;EESHE / Operating temperature : ASA -10°C ~ +55°C
ABS -10°C ~ +45°C
#E{ThILY / Recommended torque o
=]z} Ite
$H73— / Top—cover fastening : 0.45N-m ~ 0.55N*m TAKACHI| RS2 hFEHITE IP67[HIKAR S R @ G
FE 1R / PCB mounting : 0.2N*m ~ 0.3N-m TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. IP67 NETWORK PLASTIC BOX e
/A d Checked IR /Created | 4% /Prod b =/ Scale
Bk (BUFERREDQ) / Color Type(End of product number ) x pprove BREl/Checke BB/ Create #/Product number
585 / Code £ / Color B / Material ] WP20-28-501
G RIT AR5 L— / White gray ASA#EHE UL94HB / UV-resistant ASA UL94HB 4R B H#H
P 201 1 1/ 4
c F¥a—)LTL— / Charcoal gray | BEIAPEABSH A (UL94V-0 %) / Flame-resistant ABS UL94V—0 ERLB/Date 019/09/19




280

45

4-R24
200

152.7 4-R05

232.7

25 20

3.25

A-A(1:3)
S 136.5 4-043
1 ™
@ 8 <]
O
3.5 38.5
= PN
. 4 ~ 2
il = w g
= o
5
O
Q ® & ® g-/é
A /Title
TAKACHI| #ASHANFERIE IP67RKRY IR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
WP20-28-501 13
iR ESZN) EH s ) 4

{ER B /Date 2019/09/19




My T H/8— / Top cover

4-R24
200

152.1 4-R0.5

280
232.7
—

20

[[p]
S
1.5
35 16.5
5
15.3
45—k / GATE

242

8-M3A Y —hFuh
8—-M3 Insert nut

168 8-M2.6 F E AR BN ff7R R
8 8-M2.6 Boss 186

nWM

W &

] | I

175 154
L. i
© 2 = 8§ 2 G 8 g
6 2-210
,JFp

AR

w

& I EE}

- 162
8-22.8

162
HREERBK * RELTOLERA
Recommended PCB dimension * NOT SUPPLIED

A /Title
TAKACHI| #REHINDFERIE P6TRE kAR X @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
WP20-28-501 -3
iR ESZ S 1 H 3 ) 4
{ER{ B /Date 2020/12/9




T 4— / Bottom base

25 1

200

4-R24

o
w

w7

280
—

o
W

Vo
7
o
19
oY
7

w7 T

Fe
¢

19

~"
7
b

4-M4FH SV ERER IR
4-M4 Mounting hole

E-E(1:3)
—
]
3 22
=]
o~
] Te)
~
=]
5
] 3

2-MAFA VY —Mryb (K=Y U PWPMB-M4-2BR 4 )
2-M4 Insert nut for Pole mounting bracket (WPMB-M4-2)

F-F(1:3)

$6.5

3.25 m- A =z

3.25

==

3.5

6-M2.6 FHE MR AR R
6-M2.6 Boss

35.5 117 35.5

175
O 4-212
o) L.
L\ © . [ee) [eo] ™
6.5 6.5
@)
80
¢ @ .

20
r_J
8
I—-\
>

Ty

ol & x
(D

153 153
6—22.8

HRERMBIK * RELTLEEA

d ~ | I
ﬁ]
\‘J
4
20
|
|
!

i

8i

i

i
i
g

!

i

i

&I < -“-” 1) f"_
&S ! 2 ! Ey ......................

216

4-R3

Recommended PCB dimension * NOT SUPPLIED

mna/Title
BASHINTEHIX IP6 TR KA S R @] ==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
78/ Approved 18X /Checked #1[X|/Created #F /Product number RE/Scale
WP20-28-501 I3
iR £ 20 1 H 44
{ER B /Date 2019/09/19




	WP20-28-5
	WP20-28-5 Model (1)
	WP20-28-5 Model (2)
	WP20-28-5 Model (3)

